

4800 Ashford Dunwoody Road Dunwoody, Georgia 30338 dunwoodyga.gov | 678.382.6700

MEMORANDUM

To: Mayor and City Council

From: Todd Meadows, Construction Manager

Date: June 15, 2020

Subject: Approval of a Construction Contract for the Chamblee Dunwoody -

Georgetown Gateway Project

ITEM DESCRIPTION

Approval of a contract for \$6,111,013 with SD&C, Inc. to construct sidewalk, shared use path and streetscape improvements on Chamblee Dunwoody Road from Cotillion Drive to Peeler Road.

BACKGROUND

The need for improvements along Chamblee Dunwoody Road is identified in both the Georgetown/North Shallowford Master Plan and the city's Comprehensive Transportation Plan (CTP). The purpose of the project is to add a shared use path along Chamblee Dunwoody Road, and improve existing sidewalks while making minor traffic operational improvements within the existing roadway.

The Georgetown/North Shallowford Master Plan also envisions enhancements to the area's identity, character, and appearance as a gateway into the City of Dunwoody. The Georgetown Gateway project includes landscaping, street trees and pedestrian lighting along the corridor except at the southeast end of the project where right of way constraints limited the ability to improve the existing sidewalk. A gateway entry feature with a wall and landscaping has also been designed for the corner at Cotillion Drive. Potential impacts of GDOT's Top End project will be evaluated and coordinated to determine the timing of construction at this corner.

In April, the city received authorization from GDOT to advertise for construction bids. The bid advertisement was posted on April 24th and a public bid opening was held on May 26th. The city received 8 bids with SD&C, Inc. submitting a low bid of \$6,111,013.09. After reviewing their submittals and references, SD&C was found to be the low responsive bidder meeting the requirements of the bid. (Bid tabulation attached)

FUNDING



4800 Ashford Dunwoody Road Dunwoody, Georgia 30338 dunwoodyga.gov | 678.382.6700

The construction funding sources for the Georgetown Gateway project are as follows:

Funding Source	Project Number	<u>Amount</u>
CST Surface Transportation Block Grant (Federal)	P.I. #0012875	\$5,200,000
DeKalb Co. Watershed		\$566,777
City of Dunwoody HOST Fund Balance	405	\$3,283,000

Total Available Funding \$9,049,777

The \$6,111,013 construction bid with an additional 10% contingency, construction management and testing costs is well below the project budget.

SCHEDULE

The project requires major relocations of multiple utilities. Additionally, Dekalb County Watershed Management has determined that the existing 6-inch water main should be upgraded to a 12-inch main and Atlanta Gas Light has elected to completely replace the gas main. Due to the complexity and magnitude of the utility work, the utility companies have provided a 2-year timeline from the time of notice to proceed later this year to final completion of all relocations and facility replacements. The anticipated date for the city's contractor to actually begin construction is early 2022 and be completed in 2024.

Upon City Council approval, Public Works will request funding approval from DeKalb County for the water main work and submit the bids to GDOT for final approval. It typically takes 60 to 90 days for GDOT to review the bids and execute the construction agreement. Utility relocation can beginning immediately following receipt of GDOT's notice to proceed to construction.

RECOMMENDED ACTION

Staff recommends award of a construction contract in the amount of \$6,111,013.09 to SD&C, Inc. and authorization of an additional 10% contingency.

				SD&C Inc		Lewallen Const		Ohmshiv Const	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
150-1000	Traffic Control	LS	1	\$270,000.00	\$270,000.00	\$91,652.16	\$91,652.16	\$260,000.00	\$260,000.00
632-0003	Changeable Message Sign, Portable, Type 3	EA	4	\$6,500.00	\$26,000.00	\$17,985.00	\$71,940.00	\$12,500.00	\$50,000.00
634-1200	Right of Way Markers	EA	44	\$120.00	\$5,280.00	\$215.67	\$9,489.48	\$110.00	\$4,840.00
156-0100	GPS Data Collection and Submittal	LS	1	\$850.00	\$850.00	\$16,500.00	\$16,500.00	\$9,000.00	\$9,000.00
210-0100	Grading Complete	LS	1	\$530,000.00	\$530,000.00	\$862,130.19	\$862,130.19	\$1,219,835.00	\$1,219,835.00
	Traffic Control and Grading Subtotal				\$832,130.00		\$1,051,711.83		\$1,543,675.00
163-0528	Construct and Remove Fabric Check Dam	LF	100	\$8.75	\$875.00	\$9.70	\$970.00	\$4.00	\$400.00
163-0527	Construct and Remove Rip Rap Check Dams	EA	2	\$650.00	\$1,300.00	\$459.80	\$919.60	\$200.00	\$400.00
165-0041	Maintenance of Check Dams – All Types	LF	90	\$10.00	\$900.00	\$8.29	\$746.10	\$2.00	\$180.00
163-0541	Construct and Remove Rock Filter Dams	EA	5	\$200.00	\$1,000.00	\$919.60	\$4,598.00	\$225.00	\$1,125.00
165-0110	Maintenance of Rock Filter Dams	EA	5	\$50.00	\$250.00	\$284.90	\$1,424.50	\$30.00	\$150.00
163-0550	Construct and Remove Inlet Sediment Trap	EA	64	\$143.00	\$9,152.00	\$140.80	\$9,011.20	\$175.00	\$11,200.00
165-0105	Maintenance of Inlet Sediment Trap	EA	64	\$71.50	\$4,576.00	\$59.46	\$3,805.44	\$20.00	\$1,280.00
163-0503	Construct and Remove Silt Control Gate, TP 3	EA	1	\$715.01	\$715.01	\$459.80	\$459.80	\$300.00	\$300.00
165-0087	Maintenance of Silt Control Gate, TP 3	EA	1	\$214.50	\$214.50	\$199.93	\$199.93	\$100.00	\$100.00
171-0030	Install Temporary Silt Fence, TP C	LF	5,700	\$3.36	\$19,152.00	\$2.30	\$13,110.00	\$3.25	\$18,525.00
165-0030	Maintenance of Temporary Silt Fence, TP C	LF	2,900	\$2.04	\$5,916.00	\$2.90	\$8,410.00	\$1.00	\$2,900.00
716-2000	Erosion Control Mats, Slopes	SY	2,800	\$1.16	\$3,248.00	\$1.21	\$3,388.00	\$1.25	\$3,500.00
163-0300	Construction Exit	EA	3	\$1,200.00	\$3,600.00	\$1,375.00	\$4,125.00	\$1,350.00	\$4,050.00
165-0101	Maintenance of Construction Exit	EA	6	\$10.00	\$60.00	\$1,424.50	\$8,547.00	\$350.00	\$2,100.00
163-0520	Construct and Remove Temp. Pipe Slope Drain	LF	200	\$25.50	\$5,100.00	\$16.49	\$3,298.00	\$10.00	\$2,000.00

				SD	&C Inc	Lewallen Const		Ohmshiv Const	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
711-0100	Turf Reinforcing Mat, Type 1	SY	500	\$1.82	\$910.00	\$5.45	\$2,725.00	\$5.00	\$2,500.00
167-1000	Water Quality Monitoring & Sampling	EA	2	\$150.00	\$300.00	\$220.00	\$440.00	\$300.00	\$600.00
167-1500	Water Quality Inspection	МО	24	\$450.00	\$10,800.00	\$385.00	\$9,240.00	\$450.00	\$10,800.00
163-0232	Temporary Grassing	AC	4	\$764.50	\$3,058.00	\$742.50	\$2,970.00	\$550.00	\$2,200.00
700-7000	Agricultural Lime	TN	25	\$165.00	\$4,125.00	\$577.50	\$14,437.50	\$200.00	\$5,000.00
700-8000	Fertilizer, Mixed Grade	TN	6	\$940.50	\$5,643.00	\$1,012.00	\$6,072.00	\$350.00	\$2,100.00
700-8100	Fertilizer, Nitrogen Content	LB	350	\$2.92	\$1,022.00	\$1.65	\$577.50	\$4.00	\$1,400.00
163-0240	Mulch, 3 to 4 inches double shredded hardwood	TN	140	\$60.50	\$8,470.00	\$427.90	\$59,906.00	\$200.00	\$28,000.00
700-9300	Sod (Replace in Kind)	SY	6,574	\$8.00	\$52,592.00	\$7.92	\$52,066.08	\$7.00	\$46,018.00
643-8200	Barrier Fence (Orange), 4 Ft	LF	1,100	\$1.11	\$1,221.00	\$0.83	\$913.00	\$2.00	\$2,200.00
700-6910	Permanent Grassing	AC	7	\$1,045.00	\$7,315.00	\$1,424.50	\$9,971.50	\$1,850.00	\$12,950.00
	Erosion Control and Grassing Subtotal				\$151,514.51		\$222,331.15		\$161,978.00
402-4510	Recycled Asph. Conc., 12.5 MM Superpave, GP 2 Only, Incl Polymer-Modified Matl and H Lime	TN	1,682	\$157.34	\$264,645.88	\$157.30	\$264,578.60	\$113.50	\$190,907.00
402-3190	Recycled Asph. Conc., 19 MM Superpave, GP 1 or 2, Incl Bitum Matl & H Lime	TN	351	\$127.60	\$44,787.60	\$127.60	\$44,787.60	\$134.25	\$47,121.75
402-3121	Recycled Asph. Conc., 25 MM Superpave, GP 1 or 2, Incl Bitum Matl & H Lime	TN	37	\$174.08	\$6,440.96	\$174.08	\$6,440.96	\$131.25	\$4,856.25
310-1101	Graded Aggregate Base Course, Incl. Matl	TN	2,600	\$30.00	\$78,000.00	\$20.89	\$54,314.00	\$28.00	\$72,800.00
318-3000	Aggregate Surface Course (As Directed by Engr.)	TN	1,500	\$28.00	\$42,000.00	\$20.89	\$31,335.00	\$25.00	\$37,500.00
413-0750	Tack Coat	GL	2,180	\$5.50	\$11,990.00	\$5.50	\$11,990.00	\$3.25	\$7,085.00
402-1802	Recycled Asph. Conc. Patching, Incl Bitum. Matl. & H Lime (As Directed By Engineer)	TN	600	\$174.35	\$104,610.00	\$174.35	\$104,610.00	\$167.50	\$100,500.00

				SD&C Inc		Lewallen Const		Ohmshiv Const	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
402-1812	Recycled Asph. Conc. Leveling, Incl Bitum. Matl. & H Lime	TN	3,833	\$111.10	\$425,846.30	\$111.10	\$425,846.30	\$108.50	\$415,880.50
500-3900	Class B Concrete, including Reinf. Steel	CY	30	\$750.00	\$22,500.00	\$585.86	\$17,575.80	\$300.00	\$9,000.00
500-9999	Class B Concrete, Base or Pavement Widening	CY	130	\$280.00	\$36,400.00	\$266.08	\$34,590.40	\$190.00	\$24,700.00
432-5010	Mill Asph. Conc. Pavement, Variable Depth	SY	3,171	\$6.33	\$20,072.43	\$6.33	\$20,072.43	\$10.00	\$31,710.00
446-1100	Pavement Reinf. Strips, TP 2, 18-inch width	LF	3,110	\$6.05	\$18,815.50	\$6.05	\$18,815.50	\$8.00	\$24,880.00
441-6216	Concrete Curb & Gutter, 8-IN x 24-IN, TP 2	LF	970	\$18.00	\$17,460.00	\$20.39	\$19,778.30	\$16.00	\$15,520.00
441-6222	Concrete Curb & Gutter, 8-IN x 30-IN, TP 2	LF	60	\$20.00	\$1,200.00	\$20.39	\$1,223.40	\$18.00	\$1,080.00
441-5002	Concrete Header Curb, 6-IN, TP 2	LF	7,689	\$12.00	\$92,268.00	\$20.39	\$156,778.71	\$12.00	\$92,268.00
441-5008	Concrete Header Curb, 6-IN, TP 7	LF	1,011	\$18.00	\$18,198.00	\$20.39	\$20,614.29	\$12.50	\$12,637.50
441-0754	Concrete Median, 7-1/2 INCH	SY	262	\$75.00	\$19,650.00	\$61.38	\$16,081.56	\$50.00	\$13,100.00
441-4020	Concrete Valley Gutter, 6-INCH	SY	46	\$60.00	\$2,760.00	\$50.97	\$2,344.62	\$36.00	\$1,656.00
441-4030	Concrete Valley Gutter, 8-INCH	SY	46	\$75.00	\$3,450.00	\$52.17	\$2,399.82	\$46.00	\$2,116.00
441-0204	Plain Concrete Ditch Paving, 4-INCH	SY	5	\$90.00	\$450.00	\$35.39	\$176.95	\$40.00	\$200.00
441-0016	Driveway Concrete, 6-IN Thick	SY	86	\$60.00	\$5,160.00	\$50.97	\$4,383.42	\$36.00	\$3,096.00
441-0018	Driveway Concrete, 8-IN Thick	SY	109	\$75.00	\$8,175.00	\$52.17	\$5,686.53	\$46.00	\$5,014.00
500-3115	Class A Concrete, Type P2 Retaining Wall (Wall 6)	L	73	\$750.00	\$54,750.00	\$665.50	\$48,581.50	\$750.00	\$54,750.00
607-1000	Mortar Rubble Gravity Retaining Wall (Height LT 6 FEET)	CY	45	\$500.00	\$22,500.00	\$1,447.60	\$65,142.00	\$805.00	\$36,225.00
643-8405	Fence, Special Design - Railing	LF	583	\$120.00	\$69,960.00	\$247.50	\$144,292.50	\$95.00	\$55,385.00
643-8405	Fence, Special Design – Railing (at Ret. Walls 1 thru 6)	LF	355	\$120.00	\$42,600.00	\$247.50	\$87,862.50	\$95.00	\$33,725.00
	Asphalt and Concrete Subtotal				\$1,434,689.67		\$1,610,302.69		\$1,293,713.00

				SD	&C Inc	Lewa	llen Const	Ohmshiv Const	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
550-1180	Storm Drain Pipe, 18-INCH, H 1-10 (RCP)	LF	2,781	\$58.00	\$161,298.00	\$60.50	\$168,250.50	\$42.00	\$116,802.00
550-1240	Storm Drain Pipe, 24-INCH, H 1-10 (RCP)	LF	1,280	\$78.00	\$99,840.00	\$83.60	\$107,008.00	\$55.00	\$70,400.00
550-4224	GA STD 1120 Flared End Section, 24-INCH	EA	1	\$2,100.00	\$2,100.00	\$2,057.00	\$2,057.00	\$1,250.00	\$1,250.00
668-1100	Catch Basin, Group 1, 6 FEET or Less	EA	43	\$3,800.00	\$163,400.00	\$6,110.50	\$262,751.50	\$2,700.00	\$116,100.00
668-1110	Catch Basin, Group 1, Additional Depth	LF	30	\$450.00	\$13,500.00	\$533.50	\$16,005.00	\$300.00	\$9,000.00
668-4300	Manhole, GA STD 1011A, TP 1, 42-INCH or Less, 6 Feet or Less	EA	6	\$3,800.00	\$22,800.00	\$3,861.00	\$23,166.00	\$2,500.00	\$15,000.00
668-4311	Manhole, GA STD 1011A, TP 1, 42-INCH or Less, (ACT Depth 6-10 Feet)	EA	7	\$5,500.00	\$38,500.00	\$533.50	\$3,734.50	\$4,250.00	\$29,750.00
668-2100	Drop Inlet, GP 1, 6 FEET of Less	EA	12	\$3,200.00	\$38,400.00	\$3,861.00	\$46,332.00	\$2,500.00	\$30,000.00
668-2110	Drop Inlet, GP 1, ADD'L Depth	LF	7	\$450.00	\$3,150.00	\$533.50	\$3,734.50	\$300.00	\$2,100.00
611-8040	Adjust Existing Drop Inlet to Grade, GP 1	EA	3	\$950.00	\$2,850.00	\$2,216.50	\$6,649.50	\$1,850.00	\$5,550.00
603-2181	Rip Rap Type 3 – 18-INCH	SY	71	\$85.00	\$6,035.00	\$45.43	\$3,225.53	\$45.00	\$3,195.00
603-7000	Plastic Filter Fabric	SY	71	\$10.00	\$710.00	\$1.47	\$104.37	\$4.00	\$284.00
	Storm Drainage Subtotal				\$552,583.00		\$643,018.40		\$399,431.00
611-8050	Adjust Sanitary Sewer Manhole to Grade	EA	5	\$400.00	\$2,000.00	\$385.00	\$1,925.00	\$800.00	\$4,000.00
611-8140	Adjust Water Valve Box to Grade	EA	4	\$100.00	\$400.00	\$82.50	\$330.00	\$225.00	\$900.00
670-1120	Water Main, 12-INCH DIP	LF	3,310	\$100.10	\$331,331.00	\$89.10	\$294,921.00	\$175.00	\$579,250.00
670-1080	Water Main, 8-INCH DIP	LF	341	\$94.60	\$32,258.60	\$96.80	\$33,008.80	\$155.00	\$52,855.00
670-1060	Water Main, 6-INCH DIP	LF	160	\$89.10	\$14,256.00	\$92.40	\$14,784.00	\$125.00	\$20,000.00
670-4000	Fire Hydrant Assembly	EA	11	\$4,260.00	\$46,860.00	\$4,730.00	\$52,030.00	\$5,100.00	\$56,100.00
670-9920	Remove Existing Fire Hydrant	EA	3	\$660.00	\$1,980.00	\$990.00	\$2,970.00	\$755.00	\$2,265.00

				SD	%C Inc	Lewa	llen Const	Ohmshiv Const	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
670-2060	Gate Valve, 6-INCH	EA	15	\$1,102.00	\$16,530.00	\$1,210.00	\$18,150.00	\$955.00	\$14,325.00
670-2080	Gate Valve, 8-INCH	EA	7	\$1,460.50	\$10,223.50	\$1,650.00	\$11,550.00	\$1,325.00	\$9,275.00
670-2120	Gate Valve, 12-INCH	EA	8	\$3,136.00	\$25,088.00	\$3,300.00	\$26,400.00	\$3,300.00	\$26,400.00
600-0001	Flowable Fill	CY	35	\$330.00	\$11,550.00	\$385.00	\$13,475.00	\$315.00	\$11,025.00
670-1490	Cut & Cap Existing Water Main	EA	3	\$1,925.00	\$5,775.00	\$2,024.00	\$6,072.00	\$1,550.00	\$4,650.00
670-9720	Relocate Existing Water Valve Incl. Box	EA	18	\$1,320.00	\$23,760.00	\$2,640.00	\$47,520.00	\$2,250.00	\$40,500.00
670-9910	Remove Existing Water Valve Incl. Box	EA	11	\$880.00	\$9,680.00	\$1,320.00	\$14,520.00	\$775.00	\$8,525.00
670-5000	Water Service Line, ¾-INCH	LF	299	\$26.40	\$7,893.60	\$29.70	\$8,880.30	\$37.25	\$11,137.75
670-5000	Water Service Line, 1-INCH	LF	215	\$34.10	\$7,331.50	\$34.10	\$7,331.50	\$46.00	\$9,890.00
670-3169	Tapping Sleeve & Valve Assembly, 16-INCH x 12-INCH	EA	1	\$9,860.00	\$9,860.00	\$9,680.00	\$9,680.00	\$20,000.00	\$20,000.00
670-3166	Tapping Sleeve & Valve Assembly, 16-INCH x 6-INCH	EA	1	\$10,000.00	\$10,000.00	\$9,020.00	\$9,020.00	\$21,500.00	\$21,500.00
	Water Main Subtotal				\$566,777.20		\$572,567.60		\$892,597.75
639-3004	Steel Strain Pole, Type IV, with 50-Foot Mast Arm- Fluted Black	EA	2	\$14,543.00	\$29,086.00	\$14,542.55	\$29,085.10	\$15,000.00	\$30,000.00
639-3004	Steel Strain Pole, Type IV, with 55-Foot Mast Arm- Fluted Black	EA	1	\$17,958.00	\$17,958.00	\$17,957.50	\$17,957.50	\$23,500.00	\$23,500.00
639-3004	Steel Strain Pole, Type IV, with 40' AND 45' Mast Arms-Fluted Black	EA	1	\$22,513.50	\$22,513.50	\$22,513.15	\$22,513.15	\$22,225.00	\$22,225.00
639-3004	Steel Strain Pole, Type IV, with 45' Mast Arms-Fluted Black	EA	1	\$15,422.00	\$15,422.00	\$15,422.00	\$15,422.00	\$16,250.00	\$16,250.00

				SD&C Inc		Lewal	llen Const	Ohmshiv Const	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
639-3004	Steel Strain Pole, Type IV, with 50' and 60' Mast Arms-Fluted Black	EA	1	\$28,380.00	\$28,380.00	\$28,380.00	\$28,380.00	\$27,125.00	\$27,125.00
639-3014	Steel Strain Pole, Type IV, Lumin Arm with 55' Mast Arms-Fluted Black	EA	1	\$20,796.00	\$20,796.00	\$20,796.60	\$20,796.60	\$20,905.00	\$20,905.00
639-3014	Steel Strain Pole, Type IV, Lumin Arm with 50' and 55' Mast Arms-Fluted Black	EA	1	\$26,833.50	\$26,833.50	\$26,833.40	\$26,833.40	\$26,525.00	\$26,525.00
647-1000	Traffic Signal Installation No. 1 (CDR at Old Spring House)	LS	1	\$77,000.00	\$77,000.00	\$100,251.80	\$100,251.80	\$102,000.00	\$102,000.00
647-1000	Traffic Signal Installation No. 2 – (CDR & Kroger)	LS	1	\$77,000.00	\$77,000.00	\$80,256.00	\$80,256.00	\$80,000.00	\$80,000.00
647-1000	Traffic Signal Installation No. 3 – (CDR & Cotillion)	LS	1	\$93,500.00	\$93,500.00	\$82,153.50	\$82,153.50	\$81,500.00	\$81,500.00
647-2140	Pullbox, PB-4	EA	1	\$1,320.00	\$1,320.00	\$107.07	\$107.07	\$98.00	\$98.00
647-2160	Pullbox, PB-6	EA	22	\$142.80	\$3,141.60	\$142.76	\$3,140.72	\$132.00	\$2,904.00
647-2170	Pullbox, PB-7	EA	2	\$142.80	\$285.60	\$142.78	\$285.56	\$132.00	\$264.00
682-6222	Conduit, Nonmetl., TP 2, 2 In.	LF	60	\$8.80	\$528.00	\$11.63	\$697.80	\$11.00	\$660.00
682-6233	Conduit, Nonmetl., TP 3, 2 In.	LF	7,585	\$5.50	\$41,717.50	\$2.42	\$18,355.70	\$2.25	\$17,066.25
682-9950	Directional Bore – 5 INCH	LF	2,204	\$14.30	\$31,517.20	\$23.91	\$52,697.64	\$22.00	\$48,488.00
682-9950	Directional Bore – 7 INCH	LF	403	\$18.70	\$7,536.10	\$35.88	\$14,459.64	\$33.00	\$13,299.00
935-1116	OSP Fiber Optic Cable, Loose Tube, Single Mode, 72 Fiber	LF	1,535	\$8.89	\$13,646.15	\$0.81	\$1,243.35	\$0.80	\$1,228.00
935-1512	OSP Fiber Optic Cable, Drop, Single Mode, 12 Fiber	LF	300	\$2.20	\$660.00	\$2.04	\$612.00	\$2.00	\$600.00
935-3102	Fiber Optic Closure, Underground, 12 Fiber	EA	3	\$1,210.00	\$3,630.00	\$608.36	\$1,825.08	\$575.00	\$1,725.00
935-3502	Fiber Optic Closure, FDC (Rack Mounted), 12 Fiber	EA	3	\$1,045.00	\$3,135.00	\$613.69	\$1,841.07	\$575.00	\$1,725.00
935-4010	Fiber Optic Splice, Fusion	EA	24	\$49.50	\$1,188.00	\$43.84	\$1,052.16	\$42.00	\$1,008.00

				SD	%C Inc	Lewal	llen Const	Ohmshiv Const	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
935-5050	Fiber Optic Patch Cord, SM	EA	6	\$137.50	\$825.00	\$54.18	\$325.08	\$55.00	\$330.00
937-6050	Intersection Video Detection System Assembly, Type A	EA	2	\$7,150.00	\$14,300.00	\$5,945.50	\$11,891.00	\$6,000.00	\$12,000.00
937-8030	Testing – Intersection Video Detection	LS	1	\$1,650.00	\$1,650.00	\$99.22	\$99.22	\$95.00	\$95.00
939-2250	GBIC, Type D (LX)	EA	6	\$165.00	\$990.00	\$123.37	\$740.22	\$125.00	\$750.00
939-2300	Field Switch, Type A	EA	3	\$1,980.00	\$5,940.00	\$1,799.16	\$5,397.48	\$1,750.00	\$5,250.00
999-3800	Rectangular Rapid Beacon Assembly	EA	6	\$6,050.00	\$36,300.00	\$6,122.99	\$36,737.94	\$6,000.00	\$36,000.00
	Traffic Signals and Communications				\$576,799.15		\$575,157.78		\$573,520.25
610-6515	Remove Highway Sign, STD Dunwoody Park, STA 106+49	EA	1	\$100.00	\$100.00	\$110.00	\$110.00	\$110.00	\$110.00
611-5551	Re-set Sign, Dunwoody Park, STA 106+54	EA	1	\$100.00	\$100.00	\$220.00	\$220.00	\$110.00	\$110.00
653-1501	Thermoplastic Solid Traffic Stripe, 5-INCH, White	LF	7,856	\$0.50	\$3,928.00	\$0.70	\$5,499.20	\$0.70	\$5,499.20
653-1804	Thermoplastic Solid Traffic Stripe, 8-INCH, White	LF	16,350	\$2.37	\$38,749.50	\$2.55	\$41,692.50	\$2.55	\$41,692.50
653-1502	Thermoplastic Solid Traffic Stripe, 5-INCH, Yellow	LF	5,764	\$0.50	\$2,882.00	\$0.70	\$4,034.80	\$2.50	\$14,410.00
653-3501	Thermoplastic Skip Traffic Stripe, 5-INCH, White	GLF	1,430	\$0.50	\$715.00	\$0.64	\$915.20	\$0.60	\$858.00
653-3502	Thermoplastic Skip Traffic Stripe, 5-INCH, Yellow	GLF	2,732	\$0.50	\$1,366.00	\$0.64	\$1,748.48	\$0.60	\$1,639.20
653-1704	Thermoplastic Solid Traffic Stripe, 24-IN, White	LF	617	\$7.70	\$4,750.90	\$5.17	\$3,189.89	\$4.85	\$2,992.45
652-5452	Solid Traffic Paint, 5-INCH Yellow	LF	1,794	\$0.50	\$897.00	\$0.70	\$1,255.80	\$0.60	\$1,076.40
653-6004	Thermoplastic Traffic Striping, White	SY	167	\$5.23	\$873.41	\$5.15	\$860.05	\$4.75	\$793.25
653-6006	Thermoplastic Traffic Striping, Yellow	SY	539	\$5.23	\$2,818.97	\$5.41	\$2,915.99	\$5.00	\$2,695.00
654-1001	Raised Pavement Markers, Yellow, TP 1	EA	164	\$4.40	\$721.60	\$5.28	\$865.92	\$5.00	\$820.00
654-1003	Raised Pavement Markers, Clear/Red, TP 3	EA	129	\$4.40	\$567.60	\$5.28	\$681.12	\$5.00	\$645.00

				SD	&C Inc	Lewal	llen Const	Ohmshiv Const	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
653-0110	Thermoplastic PVMT Marking, ARROW, TP 1	EA	5	\$115.50	\$577.50	\$99.72	\$498.60	\$92.00	\$460.00
653-0120	Thermoplastic PVMT Marking, ARROW, TP 2	EA	34	\$99.00	\$3,366.00	\$121.55	\$4,132.70	\$112.00	\$3,808.00
653-0130	Thermoplastic PVMT Marking, ARROW, TP 3	EA	2	\$192.50	\$385.00	\$178.75	\$357.50	\$165.00	\$330.00
653-0210	Thermoplastic PVMT Marking, WORD, TP 1	EA	4	\$275.00	\$1,100.00	\$196.90	\$787.60	\$180.00	\$720.00
639-2002	Steel Wire Strand Cable, 3/8-Inch	LF	416	\$6.60	\$2,745.60	\$8.54	\$3,552.64	\$7.05	\$2,932.80
639-3003	Steel Strain Pole, TP III – Fluted Black	EA	4	\$11,000.00	\$44,000.00	\$11,049.50	\$44,198.00	\$11,000.00	\$44,000.00
636-1033	Highway Sign, TP 1 Mat'l, REFL Sheeting, TP 9	SF	244	\$30.02	\$7,324.88	\$46.81	\$11,421.64	\$35.25	\$8,601.00
636-1036	Highway Sign, TP 1 Mat'l, REFL Sheeting, TP 11	SF	326	\$29.02	\$9,460.52	\$21.69	\$7,070.94	\$20.00	\$6,520.00
636-1041	Highway Sign, TP 2 Mat'l, REFL Sheeting, TP 9	SF	2,222	\$6.00	\$13,332.00	\$21.69	\$48,195.18	\$30.00	\$66,660.00
636-2070	Highway Sign, SQ. Galv. Tube Post, Type 7	LF	837	\$17.60	\$14,731.20	\$9.10	\$7,616.70	\$8.30	\$6,947.10
636-2080	Highway Sign, SQ. Galv. Tube Post, Type 8	LF	168	\$24.02	\$4,035.36	\$14.37	\$2,414.16	\$13.20	\$2,217.60
636-3010	Highway Sign, SQ. Tube Post, Break-Away Sign Support	EA	12	\$34.98	\$419.76	\$500.50	\$6,006.00	\$415.00	\$4,980.00
	Signage and Pavement Marking Subtotal				\$159,947.80		\$200,240.61		\$221,517.50
681-3600	Type A, SPCL, 69W LED Type 5 Luminaire with GFCI Outlet with WP In-Use Cover & pole Compl.	EA	79	\$6,380.00	\$504,020.00	\$6,484.50	\$512,275.50	\$6,000.00	\$474,000.00
682-9950	Directional Bore, 2-inch	LF	550	\$19.80	\$10,890.00	\$26.57	\$14,613.50	\$24.25	\$13,337.50
682-6222	Conduit, NONMETL, TP 2, 2-INCH	LF	7,200	\$5.78	\$41,616.00	\$7.89	\$56,808.00	\$7.20	\$51,840.00
682-6218	Conduit, NONMETL, TP 2, 3/4-INCH	LF	1,100	\$5.50	\$6,050.00	\$7.90	\$8,690.00	\$7.20	\$7,920.00
682-6233	Conduit, NONMETL, TP 3, 2-INCH	LF	810	\$2.20	\$1,782.00	\$1.60	\$1,296.00	\$1.50	\$1,215.00
682-8995	Power Service Cabinet	EA	1	\$14,850.00	\$14,850.00	\$12,589.50	\$12,589.50	\$11,995.00	\$11,995.00

				SD	&C Inc	Lewal	len Const	Ohms	hiv Const
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
682-9021	Electrical Junction Box, Conc. Ground-MTD	EA	81	\$429.00	\$34,749.00	\$514.14	\$41,645.34	\$470.00	\$38,070.00
682-1413	Cable, TP XHHW, AWG #1/0	LF	14,100	\$2.75	\$38,775.00	\$3.36	\$47,376.00	\$3.08	\$43,428.00
682-1409	Cable, TP XHHW, AWG #1	LF	7,500	\$2.42	\$18,150.00	\$2.75	\$20,625.00	\$2.55	\$19,125.00
682-1408	Cable, TP XHHW, AWG #2	LF	20,200	\$2.20	\$44,440.00	\$2.28	\$46,056.00	\$2.10	\$42,420.00
682-1406	Cable, TP XHHW, AWG #6	LF	21,500	\$1.11	\$23,865.00	\$1.27	\$27,305.00	\$1.18	\$25,370.00
682-1404	Cable, TP XHHW, AWG #10	LF	6,600	\$0.83	\$5,478.00	\$0.67	\$4,422.00	\$0.65	\$4,290.00
	Lighting Subtotal				\$744,665.00		\$793,701.84		\$733,010.50
900-0039	Brick Pavers	SF	14,369	\$18.00	\$258,642.00	\$13.84	\$198,866.96	\$5.00	\$71,845.00
900-0045	Mortar Set Bed Brick Pavers, 1-1/2 Inch	SY	1,597	\$10.00	\$15,970.00	\$124.30	\$198,507.10	\$5.15	\$8,224.55
441-0104	Concrete Sidewalk, 4-Inch	SY	2,121	\$45.00	\$95,445.00	\$34.99	\$74,213.79	\$30.00	\$63,630.00
441-0105	Concrete Sidewalk, 5-Inch	SY	3,368	\$52.75	\$177,662.00	\$40.92	\$137,818.56	\$34.00	\$114,512.00
441-0108	Concrete Sidewalk, 8-Inch	SY	1,424	\$75.00	\$106,800.00	\$54.57	\$77,707.68	\$46.00	\$65,504.00
310-1101	GR. AGGR. BASE COURSE, Incl. MATL	TN	2,028	\$28.00	\$56,784.00	\$20.89	\$42,364.92	\$27.00	\$54,756.00
500-3300	Mortar Rubble Masonry Wall	CY	36	\$500.00	\$18,000.00	\$1,447.60	\$52,113.60	\$850.00	\$30,600.00
643-8250	Galv. Steel Pipe Handrail (Not used)	LF	-	\$0.00	\$0.00	\$60.50	\$0.00	\$0.00	\$0.00
630-0600	Precast Coping and granite facing (all sides) at Gateway sign	LF	178	\$208.15	\$37,050.70	\$157.69	\$28,068.82	\$110.00	\$19,580.00
670-1590	Concrete Cap	LF	16	\$258.75	\$4,140.00	\$319.55	\$5,112.80	\$110.00	\$1,760.00
999-0100	Architectural Construction – New Bus Shelters (2 each)	LS	1	\$35,000.00	\$35,000.00	\$44,572.00	\$44,572.00	\$62,500.00	\$62,500.00
999-9500	Granite Facing	SF	1,197	\$16.00	\$19,152.00	\$30.49	\$36,496.53	\$15.00	\$17,955.00
754-5000	6-Foot Bench	EA	8	\$1,645.00	\$13,160.00	\$2,213.20	\$17,705.60	\$3,350.00	\$26,800.00

_				SD	&C Inc	Lewallen Const		Ohmshiv Const	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
754-6000	Bicycle Rack	EA	4	\$1,545.40	\$6,181.60	\$1,311.55	\$5,246.20	\$2,650.00	\$10,600.00
702-9025	Landscape Mulch	SY	3,384	\$4.40	\$14,889.60	\$4.95	\$16,750.80	\$8.00	\$27,072.00
708-1000	Plant Topsoil (Screened, delivered and spread –)	CY	376	\$49.50	\$18,612.00	\$60.50	\$22,748.00	\$50.00	\$18,800.00
702-7501	Tree Protection Barrier, TP 1	LF	1,326	\$3.36	\$4,455.36	\$2.30	\$3,049.80	\$4.55	\$6,033.30
702-0472	Tree: Ilex X Attenuata – "Foster Holly"	EA	14	\$462.00	\$6,468.00	\$495.00	\$6,930.00	\$385.00	\$5,390.00
702-0905	Tree: Quercus Phellos – "Willow Oak"	EA	55	\$770.00	\$42,350.00	\$770.00	\$42,350.00	\$385.00	\$21,175.00
702-1081	Tree: Ulmus Americana – "American Elm"	EA	16	\$770.00	\$12,320.00	\$770.00	\$12,320.00	\$385.00	\$6,160.00
702-0470	Shrub: Ilex Vomitoria Nana – "Yaupon"	EA	1,314	\$18.70	\$24,571.80	\$18.70	\$24,571.80	\$50.00	\$65,700.00
702-0678	Shrub: Muhlenbergia Capillaris – "Pink Muhly Grass	EA	233	\$19.80	\$4,613.40	\$19.80	\$4,613.40	\$50.00	\$11,650.00
702-0981	Shrub: Rosa SP – "Knockout Rose"	EA	16	\$38.50	\$616.00	\$38.50	\$616.00	\$52.00	\$832.00
702-0330	Groundcover: Hemerocallis Species - Daylillies	EA	4,073	\$7.70	\$31,362.10	\$7.70	\$31,362.10	\$25.00	\$101,825.00
702-0559	Groundcover: Liriope Muscari – Blue lily turf	EA	19,923	\$4.40	\$87,661.20	\$4.40	\$87,661.20	\$15.00	\$298,845.00
	Hardscape and Landscaping Subtotal				\$1,091,906.76		\$1,171,767.66		\$1,111,748.85

Grand Total \$6,111,013.09 Grand Total \$6,840,799.56 Grand Total \$6,931,191.85

Packet page:...

				CMES Inc		Tri	Scapes	JHC Corp	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
150-1000	Traffic Control	LS	1	\$554,724.00	\$554,724.00	\$293,250.00	\$293,250.00	\$275,000.00	\$275,000.00
632-0003	Changeable Message Sign, Portable, Type 3	EA	4	\$9,100.00	\$36,400.00	\$11,500.00	\$46,000.00	\$10,000.00	\$40,000.00
634-1200	Right of Way Markers	EA	44	\$50.00	\$2,200.00	\$143.75	\$6,325.00	\$300.00	\$13,200.00
156-0100	GPS Data Collection and Submittal	LS	1	\$12,500.00	\$12,500.00	\$28,750.00	\$28,750.00	\$17,500.00	\$17,500.00
210-0100	Grading Complete	LS	1	\$844,265.00	\$844,265.00	\$1,405,455.82	\$1,405,455.82	\$1,387,000.00	\$1,387,000.00
	Traffic Control and Grading Subtotal				\$1,450,089.00		\$1,779,780.82		\$1,732,700.00
163-0528	Construct and Remove Fabric Check Dam	LF	100	\$12.00	\$1,200.00	\$17.25	\$1,725.00	\$8.00	\$800.00
163-0527	Construct and Remove Rip Rap Check Dams	EA	2	\$450.00	\$900.00	\$575.00	\$1,150.00	\$600.00	\$1,200.00
165-0041	Maintenance of Check Dams – All Types	LF	90	\$10.00	\$900.00	\$9.20	\$828.00	\$0.01	\$0.90
163-0541	Construct and Remove Rock Filter Dams	EA	5	\$510.00	\$2,550.00	\$345.00	\$1,725.00	\$600.00	\$3,000.00
165-0110	Maintenance of Rock Filter Dams	EA	5	\$290.00	\$1,450.00	\$115.00	\$575.00	\$0.01	\$0.05
163-0550	Construct and Remove Inlet Sediment Trap	EA	64	\$180.00	\$11,520.00	\$269.10	\$17,222.40	\$275.00	\$17,600.00
165-0105	Maintenance of Inlet Sediment Trap	EA	64	\$50.00	\$3,200.00	\$138.00	\$8,832.00	\$0.01	\$0.64
163-0503	Construct and Remove Silt Control Gate, TP 3	EA	1	\$960.00	\$960.00	\$690.00	\$690.00	\$1,000.00	\$1,000.00
165-0087	Maintenance of Silt Control Gate, TP 3	EA	1	\$180.00	\$180.00	\$287.50	\$287.50	\$0.01	\$0.01
171-0030	Install Temporary Silt Fence, TP C	LF	5,700	\$4.00	\$22,800.00	\$2.70	\$15,390.00	\$4.50	\$25,650.00
165-0030	Maintenance of Temporary Silt Fence, TP C	LF	2,900	\$0.50	\$1,450.00	\$1.90	\$5,510.00	\$0.01	\$29.00
716-2000	Erosion Control Mats, Slopes	SY	2,800	\$0.95	\$2,660.00	\$1.27	\$3,556.00	\$3.00	\$8,400.00
163-0300	Construction Exit	EA	3	\$1,300.00	\$3,900.00	\$2,084.38	\$6,253.14	\$2,000.00	\$6,000.00
165-0101	Maintenance of Construction Exit	EA	6	\$500.00	\$3,000.00	\$435.00	\$2,610.00	\$500.00	\$3,000.00
163-0520	Construct and Remove Temp. Pipe Slope Drain	LF	200	\$25.00	\$5,000.00	\$28.75	\$5,750.00	\$30.00	\$6,000.00

					CMES Inc		Tri Scapes		JHC Corp	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total	
711-0100	Turf Reinforcing Mat, Type 1	SY	500	\$5.50	\$2,750.00	\$5.69	\$2,845.00	\$4.00	\$2,000.00	
167-1000	Water Quality Monitoring & Sampling	EA	2	\$500.00	\$1,000.00	\$287.50	\$575.00	\$500.00	\$1,000.00	
167-1500	Water Quality Inspection	МО	24	\$150.00	\$3,600.00	\$546.25	\$13,110.00	\$500.00	\$12,000.00	
163-0232	Temporary Grassing	AC	4	\$730.00	\$2,920.00	\$776.25	\$3,105.00	\$750.00	\$3,000.00	
700-7000	Agricultural Lime	TN	25	\$200.00	\$5,000.00	\$603.75	\$15,093.75	\$300.00	\$7,500.00	
700-8000	Fertilizer, Mixed Grade	TN	6	\$930.00	\$5,580.00	\$1,058.00	\$6,348.00	\$1,000.00	\$6,000.00	
700-8100	Fertilizer, Nitrogen Content	LB	350	\$3.50	\$1,225.00	\$1.73	\$605.50	\$5.00	\$1,750.00	
163-0240	Mulch, 3 to 4 inches double shredded hardwood	TN	140	\$175.00	\$24,500.00	\$115.00	\$16,100.00	\$375.00	\$52,500.00	
700-9300	Sod (Replace in Kind)	SY	6,574	\$6.00	\$39,444.00	\$4.37	\$28,728.38	\$7.00	\$46,018.00	
643-8200	Barrier Fence (Orange), 4 Ft	LF	1,100	\$3.00	\$3,300.00	\$3.39	\$3,729.00	\$3.00	\$3,300.00	
700-6910	Permanent Grassing	AC	7	\$1,400.00	\$9,800.00	\$1,489.25	\$10,424.75	\$1,500.00	\$10,500.00	
	Erosion Control and Grassing Subtotal				\$160,789.00		\$172,768.42		\$218,248.60	
402-4510	Recycled Asph. Conc., 12.5 MM Superpave, GP 2 Only, Incl Polymer-Modified Matl and H Lime	TN	1,682	\$125.00	\$210,250.00	\$164.50	\$276,689.00	\$158.00	\$265,756.00	
402-3190	Recycled Asph. Conc., 19 MM Superpave, GP 1 or 2, Incl Bitum Matl & H Lime	TN	351	\$105.00	\$36,855.00	\$133.40	\$46,823.40	\$128.00	\$44,928.00	
402-3121	Recycled Asph. Conc., 25 MM Superpave, GP 1 or 2, Incl Bitum Matl & H Lime	TN	37	\$105.00	\$3,885.00	\$181.99	\$6,733.63	\$174.00	\$6,438.00	
310-1101	Graded Aggregate Base Course, Incl. Matl	TN	2,600	\$29.00	\$75,400.00	\$36.00	\$93,600.00	\$52.00	\$135,200.00	
318-3000	Aggregate Surface Course (As Directed by Engr.)	TN	1,500	\$36.00	\$54,000.00	\$36.00	\$54,000.00	\$45.00	\$67,500.00	
413-0750	Tack Coat	GL	2,180	\$4.00	\$8,720.00	\$5.75	\$12,535.00	\$6.00	\$13,080.00	
402-1802	Recycled Asph. Conc. Patching, Incl Bitum. Matl. & H Lime (As Directed By Engineer)	TN	600	\$141.00	\$84,600.00	\$182.28	\$109,368.00	\$175.00	\$105,000.00	

				CN	ΛES Inc	Tri Scapes		JHC Corp	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
402-1812	Recycled Asph. Conc. Leveling, Incl Bitum. Matl. & H	TN	2 022	\$105.00	\$402.465.00	\$116.15	¢445 202 05	\$112.00	\$420,206,00
500-3900		CY	3,833 30			-		·	\$429,296.00
500-9999	Class B Concrete, including Reinf. Steel			\$915.00	. ,	\$489.38	. ,	\$700.00	\$21,000.00
	Class B Concrete, Base or Pavement Widening	CY	130	\$270.00	. ,	\$293.63		\$275.00	\$35,750.00
432-5010	Mill Asph. Conc. Pavement, Variable Depth	SY	3,171	\$3.50	\$11,098.50	\$6.61	\$20,960.31	\$7.00	\$22,197.00
446-1100	Pavement Reinf. Strips, TP 2, 18-inch width	LF	3,110	\$3.00	\$9,330.00	\$6.33	\$19,686.30	\$6.00	\$18,660.00
441-6216	Concrete Curb & Gutter, 8-IN x 24-IN, TP 2	LF	970	\$22.00	\$21,340.00	\$17.76	\$17,227.20	\$19.00	\$18,430.00
441-6222	Concrete Curb & Gutter, 8-IN x 30-IN, TP 2	LF	60	\$26.00	\$1,560.00	\$22.48	\$1,348.80	\$29.00	\$1,740.00
441-5002	Concrete Header Curb, 6-IN, TP 2	LF	7,689	\$15.00	\$115,335.00	\$12.24	\$94,113.36	\$15.00	\$115,335.00
441-5008	Concrete Header Curb, 6-IN, TP 7	LF	1,011	\$15.00	\$15,165.00	\$12.95	\$13,092.45	\$18.00	\$18,198.00
441-0754	Concrete Median, 7-1/2 INCH	SY	262	\$76.00	\$19,912.00	\$58.73	\$15,387.26	\$65.00	\$17,030.00
441-4020	Concrete Valley Gutter, 6-INCH	SY	46	\$64.00	\$2,944.00	\$68.51	\$3,151.46	\$65.00	\$2,990.00
441-4030	Concrete Valley Gutter, 8-INCH	SY	46	\$68.00	\$3,128.00	\$78.30	\$3,601.80	\$75.00	\$3,450.00
441-0204	Plain Concrete Ditch Paving, 4-INCH	SY	5	\$110.00	\$550.00	\$88.09	\$440.45	\$45.00	\$225.00
441-0016	Driveway Concrete, 6-IN Thick	SY	86	\$54.00	\$4,644.00	\$59.81	\$5,143.66	\$65.00	\$5,590.00
441-0018	Driveway Concrete, 8-IN Thick	SY	109	\$73.00	\$7,957.00	\$68.51	\$7,467.59	\$75.00	\$8,175.00
500-3115	Class A Concrete, Type P2 Retaining Wall (Wall 6)	L	73	\$830.00	\$60,590.00	\$892.80	\$65,174.40	\$600.00	\$43,800.00
607-1000	Mortar Rubble Gravity Retaining Wall (Height LT 6 FEET)	CY	45	\$1,000.00	\$45,000.00	\$855.60	\$38,502.00	\$600.00	\$27,000.00
643-8405	Fence, Special Design - Railing	LF	583	\$150.00	\$87,450.00	\$132.25	\$77,101.75	\$100.00	\$58,300.00
643-8405	Fence, Special Design – Railing (at Ret. Walls 1 thru 6)	LF	355	\$150.00	\$53,250.00	\$132.25	\$46,948.75	\$80.00	\$28,400.00
	Asphalt and Concrete Subtotal				\$1,397,978.50		\$1,527,152.82		\$1,513,468.00

				CN	CMES Inc Tri Scapes		JHC Corp		
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
550-1180	Storm Drain Pipe, 18-INCH, H 1-10 (RCP)	LF	2,781	\$70.00	\$194,670.00	\$37.86	\$105,288.66	\$60.00	\$166,860.00
550-1240	Storm Drain Pipe, 24-INCH, H 1-10 (RCP)	LF	1,280	\$80.00	\$102,400.00	\$52.36	\$67,020.80	\$75.00	\$96,000.00
550-4224	GA STD 1120 Flared End Section, 24-INCH	EA	1	\$1,200.00	\$1,200.00	\$1,939.38	\$1,939.38	\$750.00	\$750.00
668-1100	Catch Basin, Group 1, 6 FEET or Less	EA	43	\$3,500.00	\$150,500.00	\$2,646.25	\$113,788.75	\$2,900.00	\$124,700.00
668-1110	Catch Basin, Group 1, Additional Depth	LF	30	\$280.00	\$8,400.00	\$580.00	\$17,400.00	\$300.00	\$9,000.00
668-4300	Manhole, GA STD 1011A, TP 1, 42-INCH or Less, 6 Feet or Less	EA	6	\$1,900.00	\$11,400.00	\$3,045.00	\$18,270.00	\$2,700.00	\$16,200.00
668-4311	Manhole, GA STD 1011A, TP 1, 42-INCH or Less, (ACT Depth 6-10 Feet)	EA	7	\$280.00	\$1,960.00	\$435.00	\$3,045.00	\$3,600.00	\$25,200.00
668-2100	Drop Inlet, GP 1, 6 FEET of Less	EA	12	\$3,000.00	\$36,000.00	\$2,809.38	\$33,712.56	\$2,900.00	\$34,800.00
668-2110	Drop Inlet, GP 1, ADD'L Depth	LF	7	\$280.00	\$1,960.00	\$580.00	\$4,060.00	\$300.00	\$2,100.00
611-8040	Adjust Existing Drop Inlet to Grade, GP 1	EA	3	\$1,600.00	\$4,800.00	\$725.00	\$2,175.00	\$2,000.00	\$6,000.00
603-2181	Rip Rap Type 3 – 18-INCH	SY	71	\$44.00	\$3,124.00	\$48.94	\$3,474.74	\$65.00	\$4,615.00
603-7000	Plastic Filter Fabric	SY	71	\$4.00	\$284.00	\$9.79	\$695.09	\$4.00	\$284.00
	Storm Drainage Subtotal				\$516,698.00		\$370,869.98		\$486,509.00
611-8050	Adjust Sanitary Sewer Manhole to Grade	EA	5	\$1,100.00	\$5,500.00	\$862.50	\$4,312.50	\$7,000.00	\$35,000.00
611-8140	Adjust Water Valve Box to Grade	EA	4	\$390.00	\$1,560.00	\$287.50	\$1,150.00	\$100.00	\$400.00
670-1120	Water Main, 12-INCH DIP	LF	3,310	\$160.00	\$529,600.00	\$187.00	\$618,970.00	\$120.00	\$397,200.00
670-1080	Water Main, 8-INCH DIP	LF	341	\$130.00	\$44,330.00	\$172.50	\$58,822.50	\$75.00	\$25,575.00
670-1060	Water Main, 6-INCH DIP	LF	160	\$120.00	\$19,200.00	\$138.00	\$22,080.00	\$65.00	\$10,400.00
670-4000	Fire Hydrant Assembly	EA	11	\$3,100.00	\$34,100.00	\$5,750.00	\$63,250.00	\$6,500.00	\$71,500.00
670-9920	Remove Existing Fire Hydrant	EA	3	\$800.00	\$2,400.00	\$862.50	\$2,587.50	\$1,750.00	\$5,250.00

					CMES Inc		Tri Scapes		JHC Corp	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total	
670-2060	Gate Valve, 6-INCH	EA	15	\$1,300.00	\$19,500.00	\$1,092.50	\$16,387.50	\$1,750.00	\$26,250.00	
670-2080	Gate Valve, 8-INCH	EA	7	\$1,900.00	\$13,300.00	\$1,495.00	\$10,465.00	\$2,500.00	\$17,500.00	
670-2120	Gate Valve, 12-INCH	EA	8	\$3,000.00	\$24,000.00	\$3,680.00	\$29,440.00	\$4,200.00	\$33,600.00	
600-0001	Flowable Fill	CY	35	\$380.00	\$13,300.00	\$345.00	\$12,075.00	\$325.00	\$11,375.00	
670-1490	Cut & Cap Existing Water Main	EA	3	\$7,500.00	\$22,500.00	\$1,725.00	\$5,175.00	\$2,500.00	\$7,500.00	
670-9720	Relocate Existing Water Valve Incl. Box	EA	18	\$980.00	\$17,640.00	\$2,300.00	\$41,400.00	\$2,200.00	\$39,600.00	
670-9910	Remove Existing Water Valve Incl. Box	EA	11	\$280.00	\$3,080.00	\$862.00	\$9,482.00	\$750.00	\$8,250.00	
670-5000	Water Service Line, ¾-INCH	LF	299	\$40.00	\$11,960.00	\$40.25	\$12,034.75	\$27.00	\$8,073.00	
670-5000	Water Service Line, 1-INCH	LF	215	\$40.00	\$8,600.00	\$51.75	\$11,126.25	\$32.00	\$6,880.00	
670-3169	Tapping Sleeve & Valve Assembly, 16-INCH x 12-INCH	EA	1	\$20,000.00	\$20,000.00	\$20,700.00	\$20,700.00	\$10,000.00	\$10,000.00	
670-3166	Tapping Sleeve & Valve Assembly, 16-INCH x 6-INCH	EA	1	\$30,000.00	\$30,000.00	\$23,000.00	\$23,000.00	\$7,500.00	\$7,500.00	
	Water Main Subtotal				\$820,570.00		\$962,458.00		\$721,853.00	
639-3004	Steel Strain Pole, Type IV, with 50-Foot Mast Arm- Fluted Black	EA	2	\$23,000.00	\$46,000.00	\$15,203.58	\$30,407.16	\$35,000.00	\$70,000.00	
639-3004	Steel Strain Pole, Type IV, with 55-Foot Mast Arm- Fluted Black	EA	1	\$23,000.00	\$23,000.00	\$18,773.75	\$18,773.75	\$25,000.00	\$25,000.00	
639-3004	Steel Strain Pole, Type IV, with 40' AND 45' Mast Arms-Fluted Black	EA	1	\$28,000.00	\$28,000.00	\$23,536.48	\$23,536.48	\$25,000.00	\$25,000.00	
639-3004	Steel Strain Pole, Type IV, with 45' Mast Arms-Fluted Black	EA	1	\$22,700.00	\$22,700.00	\$16,123.00	\$16,123.00	\$29,000.00	\$29,000.00	

					CMES Inc		Tri Scapes		JHC Corp	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total	
639-3004	Steel Strain Pole, Type IV, with 50' and 60' Mast									
	Arms-Fluted Black	EA	1	\$31,500.00	\$31,500.00	\$29,670.00	\$29,670.00	\$31,000.00	\$31,000.00	
639-3014	Steel Strain Pole, Type IV, Lumin Arm with 55' Mast Arms-Fluted Black	EA	1	\$28,000.00	\$28,000.00	\$21,741.90	\$21,741.90	\$29,000.00	\$29,000.00	
639-3014	Steel Strain Pole, Type IV, Lumin Arm with 50' and 55' Mast Arms-Fluted Black	EA	1	\$32,400.00	\$32,400.00	\$28,053.10	\$28,053.10	\$32,000.00	\$32,000.00	
647-1000	Traffic Signal Installation No. 1 (CDR at Old Spring House)	LS	1	\$95,000.00	\$95,000.00	\$104,808.70	\$104,808.70	\$88,000.00	\$88,000.00	
647-1000	Traffic Signal Installation No. 2 – (CDR & Kroger)	LS	1	\$90,500.00	\$90,500.00	\$83,904.00	\$83,904.00	\$87,000.00	\$87,000.00	
647-1000	Traffic Signal Installation No. 3 – (CDR & Cotillion)	LS	1	\$81,000.00	\$81,000.00	\$85,887.75	\$85,887.75	\$89,000.00	\$89,000.00	
647-2140	Pullbox, PB-4	EA	1	\$1,300.00	\$1,300.00	\$111.94	\$111.94	\$1,000.00	\$1,000.00	
647-2160	Pullbox, PB-6	EA	22	\$1,300.00	\$28,600.00	\$149.25	\$3,283.50	\$1,250.00	\$27,500.00	
647-2170	Pullbox, PB-7	EA	2	\$1,400.00	\$2,800.00	\$149.27	\$298.54	\$1,500.00	\$3,000.00	
682-6222	Conduit, Nonmetl., TP 2, 2 In.	LF	60	\$5.00	\$300.00	\$12.16	\$729.60	\$10.00	\$600.00	
682-6233	Conduit, Nonmetl., TP 3, 2 In.	LF	7,585	\$5.00	\$37,925.00	\$2.53	\$19,190.05	\$6.00	\$45,510.00	
682-9950	Directional Bore – 5 INCH	LF	2,204	\$15.00	\$33,060.00	\$25.00	\$55,100.00	\$32.00	\$70,528.00	
682-9950	Directional Bore – 7 INCH	LF	403	\$15.00	\$6,045.00	\$37.51	\$15,116.53	\$50.00	\$20,150.00	
935-1116	OSP Fiber Optic Cable, Loose Tube, Single Mode, 72 Fiber	LF	1,535	\$2.50	\$3,837.50	\$0.85	\$1,304.75	\$3.00	\$4,605.00	
935-1512	OSP Fiber Optic Cable, Drop, Single Mode, 12 Fiber	LF	300	\$4.50	\$1,350.00	\$2.13	\$639.00	\$2.50	\$750.00	
935-3102	Fiber Optic Closure, Underground, 12 Fiber	EA	3	\$1,400.00	\$4,200.00	\$636.01	\$1,908.03	\$900.00	\$2,700.00	
935-3502	Fiber Optic Closure, FDC (Rack Mounted), 12 Fiber	EA	3	\$350.00	\$1,050.00	\$641.59	\$1,924.77	\$1,000.00	\$3,000.00	
935-4010	Fiber Optic Splice, Fusion	EA	24	\$65.00	\$1,560.00	\$45.83	\$1,099.92	\$50.00	\$1,200.00	

				CN	AES Inc	Tri Scapes		JHC Corp	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
935-5050	Fiber Optic Patch Cord, SM	EA	6	\$32.00	\$192.00	\$56.64	\$339.84	\$125.00	\$750.00
937-6050	Intersection Video Detection System Assembly, Type A	EA	2	\$6,000.00	\$12,000.00	\$6,215.75	\$12,431.50	\$7,200.00	\$14,400.00
937-8030	Testing – Intersection Video Detection	LS	1	\$1,700.00	\$1,700.00	\$103.73	\$103.73	\$2,000.00	\$2,000.00
939-2250	GBIC, Type D (LX)	EA	6	\$340.00	\$2,040.00	\$128.97	\$773.82	\$200.00	\$1,200.00
939-2300	Field Switch, Type A	EA	3	\$2,000.00	\$6,000.00	\$1,880.94	\$5,642.82	\$1,750.00	\$5,250.00
999-3800	Rectangular Rapid Beacon Assembly	EA	6	\$12,000.00	\$72,000.00	\$6,401.30	\$38,407.80	\$7,500.00	\$45,000.00
	Traffic Signals and Communications				\$694,059.50		\$601,311.98		\$754,143.00
610-6515	Remove Highway Sign, STD Dunwoody Park, STA 106+49	EA	1	\$100.00	\$100.00	\$115.00	\$115.00	\$110.00	\$110.00
611-5551	Re-set Sign, Dunwoody Park, STA 106+54	EA	1	\$100.00	\$100.00	\$230.00	\$230.00	\$220.00	\$220.00
653-1501	Thermoplastic Solid Traffic Stripe, 5-INCH, White	LF	7,856	\$0.70	\$5,499.20	\$0.74	\$5,813.44	\$1.00	\$7,856.00
653-1804	Thermoplastic Solid Traffic Stripe, 8-INCH, White	LF	16,350	\$2.50	\$40,875.00	\$2.67	\$43,654.50	\$3.00	\$49,050.00
653-1502	Thermoplastic Solid Traffic Stripe, 5-INCH, Yellow	LF	5,764	\$0.70	\$4,034.80	\$0.74	\$4,265.36	\$1.00	\$5,764.00
653-3501	Thermoplastic Skip Traffic Stripe, 5-INCH, White	GLF	1,430	\$0.60	\$858.00	\$0.67	\$958.10	\$1.00	\$1,430.00
653-3502	Thermoplastic Skip Traffic Stripe, 5-INCH, Yellow	GLF	2,732	\$0.60	\$1,639.20	\$0.67	\$1,830.44	\$1.00	\$2,732.00
653-1704	Thermoplastic Solid Traffic Stripe, 24-IN, White	LF	617	\$5.00	\$3,085.00	\$5.41	\$3,337.97	\$5.00	\$3,085.00
652-5452	Solid Traffic Paint, 5-INCH Yellow	LF	1,794	\$0.55	\$986.70	\$0.61	\$1,094.34	\$1.00	\$1,794.00
653-6004	Thermoplastic Traffic Striping, White	SY	167	\$5.00	\$835.00	\$5.38	\$898.46	\$5.00	\$835.00
653-6006	Thermoplastic Traffic Striping, Yellow	SY	539	\$6.00	\$3,234.00	\$5.66	\$3,050.74	\$5.00	\$2,695.00
654-1001	Raised Pavement Markers, Yellow, TP 1	EA	164	\$5.00	\$820.00	\$5.52	\$905.28	\$5.00	\$820.00
654-1003	Raised Pavement Markers, Clear/Red, TP 3	EA	129	\$5.00	\$645.00	\$5.52	\$712.08	\$5.00	\$645.00

				CN	AES Inc	Tri	Scapes	JHC Corp	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
653-0110	Thermoplastic PVMT Marking, ARROW, TP 1	EA	5	\$97.00	\$485.00	\$104.25	\$521.25	\$100.00	\$500.00
653-0120	Thermoplastic PVMT Marking, ARROW, TP 2	EA	34	\$120.00	\$4,080.00	\$127.08	\$4,320.72	\$122.00	\$4,148.00
653-0130	Thermoplastic PVMT Marking, ARROW, TP 3	EA	2	\$170.00	\$340.00	\$186.88	\$373.76	\$179.00	\$358.00
653-0210	Thermoplastic PVMT Marking, WORD, TP 1	EA	4	\$190.00	\$760.00	\$205.85	\$823.40	\$197.00	\$788.00
639-2002	Steel Wire Strand Cable, 3/8-Inch	LF	416	\$8.00	\$3,328.00	\$8.02	\$3,336.32	\$4.00	\$1,664.00
639-3003	Steel Strain Pole, TP III – Fluted Black	EA	4	\$15,000.00	\$60,000.00	\$11,551.75	\$46,207.00	\$10,000.00	\$40,000.00
636-1033	Highway Sign, TP 1 Mat'l, REFL Sheeting, TP 9	SF	244	\$20.00	\$4,880.00	\$21.71	\$5,297.24	\$21.00	\$5,124.00
636-1036	Highway Sign, TP 1 Mat'l, REFL Sheeting, TP 11	SF	326	\$21.00	\$6,846.00	\$22.68	\$7,393.68	\$22.00	\$7,172.00
636-1041	Highway Sign, TP 2 Mat'l, REFL Sheeting, TP 9	SF	2,222	\$22.00	\$48,884.00	\$46.76	\$103,900.72	\$27.00	\$59,994.00
636-2070	Highway Sign, SQ. Galv. Tube Post, Type 7	LF	837	\$9.00	\$7,533.00	\$9.51	\$7,959.87	\$10.00	\$8,370.00
636-2080	Highway Sign, SQ. Galv. Tube Post, Type 8	LF	168	\$14.00	\$2,352.00	\$15.02	\$2,523.36	\$15.00	\$2,520.00
636-3010	Highway Sign, SQ. Tube Post, Break-Away Sign Support	EA	12	\$490.00	\$5,880.00	\$523.25	\$6,279.00	\$500.00	\$6,000.00
	Signage and Pavement Marking Subtotal				\$208,079.90		\$255,802.03		\$213,674.00
681-3600	Type A, SPCL, 69W LED Type 5 Luminaire with GFCI Outlet with WP In-Use Cover & pole Compl.	EA	79	\$6,700.00	\$529,300.00	\$6,484.50	\$512,275.50	\$4,557.00	\$360,003.00
682-9950	Directional Bore, 2-inch	LF	550	\$15.00	\$8,250.00	\$27.77	\$15,273.50	\$30.00	\$16,500.00
682-6222	Conduit, NONMETL, TP 2, 2-INCH	LF	7,200	\$8.00	\$57,600.00	\$8.25	\$59,400.00	\$8.00	\$57,600.00
682-6218	Conduit, NONMETL, TP 2, 3/4-INCH	LF	1,100	\$13.00	\$14,300.00	\$8.26	\$9,086.00	\$7.00	\$7,700.00
682-6233	Conduit, NONMETL, TP 3, 2-INCH	LF	810	\$18.00	\$14,580.00	\$1.67	\$1,352.70	\$8.00	\$6,480.00
682-8995	Power Service Cabinet	EA	1	\$13,000.00	\$13,000.00	\$13,161.75	\$13,161.75	\$9,000.00	\$9,000.00

				CMES Inc		Tri Scapes		JHC Corp	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
682-9021	Electrical Junction Box, Conc. Ground-MTD	EA	81	\$450.00	\$36,450.00	\$537.51	\$43,538.31	\$600.00	\$48,600.00
682-1413	Cable, TP XHHW, AWG #1/0	LF	14,100	\$3.00	\$42,300.00	\$3.51	\$49,491.00	\$3.90	\$54,990.00
682-1409	Cable, TP XHHW, AWG #1	LF	7,500	\$2.50	\$18,750.00	\$2.88	\$21,600.00	\$3.40	\$25,500.00
682-1408	Cable, TP XHHW, AWG #2	LF	20,200	\$2.00	\$40,400.00	\$2.38	\$48,076.00	\$2.25	\$45,450.00
682-1406	Cable, TP XHHW, AWG #6	LF	21,500	\$1.70	\$36,550.00	\$1.32	\$28,380.00	\$1.10	\$23,650.00
682-1404	Cable, TP XHHW, AWG #10	LF	6,600	\$1.40	\$9,240.00	\$0.70	\$4,620.00	\$1.00	\$6,600.00
	Lighting Subtotal				\$820,720.00		\$806,254.76		\$662,073.00
900-0039	Brick Pavers	SF	14,369	\$11.00	\$158,059.00	\$13.51	\$194,125.19	\$10.00	\$143,690.00
900-0045	Mortar Set Bed Brick Pavers, 1-1/2 Inch	SY	1,597	\$45.00	\$71,865.00	\$14.86	\$23,731.42	\$120.00	\$191,640.00
441-0104	Concrete Sidewalk, 4-Inch	SY	2,121	\$36.00	\$76,356.00	\$38.06	\$80,725.26	\$54.00	\$114,534.00
441-0105	Concrete Sidewalk, 5-Inch	SY	3,368	\$44.00	\$148,192.00	\$44.95	\$151,391.60	\$60.00	\$202,080.00
441-0108	Concrete Sidewalk, 8-Inch	SY	1,424	\$82.00	\$116,768.00	\$66.34	\$94,468.16	\$90.00	\$128,160.00
310-1101	GR. AGGR. BASE COURSE, Incl. MATL	TN	2,028	\$32.00	\$64,896.00	\$36.00	\$73,008.00	\$50.00	\$101,400.00
500-3300	Mortar Rubble Masonry Wall	CY	36	\$640.00	\$23,040.00	\$747.50	\$26,910.00	\$700.00	\$25,200.00
643-8250	Galv. Steel Pipe Handrail (Not used)	LF	-	\$0.00	\$0.00	\$0.00	\$0.00	\$75.00	\$0.00
630-0600	Precast Coping and granite facing (all sides) at Gateway sign	LF	178	\$110.00	\$19,580.00	\$29.73	\$5,291.94	\$30.00	\$5,340.00
670-1590	Concrete Cap	LF	16	\$430.00	\$6,880.00	\$217.50	\$3,480.00	\$15.00	\$240.00
999-0100	Architectural Construction – New Bus Shelters (2 each)	LS	1	\$42,600.00	\$42,600.00	\$29,505.82	\$29,505.82	\$20,000.00	\$20,000.00
999-9500	Granite Facing	SF	1,197	\$32.00	\$38,304.00	\$40.25	\$48,179.25	\$17.00	\$20,349.00
754-5000	6-Foot Bench	EA	8	\$2,000.00	\$16,000.00	\$2,610.00	\$20,880.00	\$2,000.00	\$16,000.00

				CN	1ES Inc	Tri	Tri Scapes		C Corp
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total	Unit Price	Total
754-6000	Bicycle Rack	EA	4	\$1,100.00	\$4,400.00	\$1,341.25	\$5,365.00	\$500.00	\$2,000.00
702-9025	Landscape Mulch	SY	3,384	\$3.00	\$10,152.00	\$3.95	\$13,366.80	\$8.00	\$27,072.00
708-1000	Plant Topsoil (Screened, delivered and spread –)	CY	376	\$65.00	\$24,440.00	\$61.63	\$23,172.88	\$77.00	\$28,952.00
702-7501	Tree Protection Barrier, TP 1	LF	1,326	\$3.00	\$3,978.00	\$41.69	\$55,280.94	\$5.00	\$6,630.00
702-0472	Tree: Ilex X Attenuata – "Foster Holly"	EA	14	\$175.00	\$2,450.00	\$398.75	\$5,582.50	\$545.00	\$7,630.00
702-0905	Tree: Quercus Phellos – "Willow Oak"	EA	55	\$900.00	\$49,500.00	\$761.25	\$41,868.75	\$875.00	\$48,125.00
702-1081	Tree: Ulmus Americana – "American Elm"	EA	16	\$900.00	\$14,400.00	\$1,033.13	\$16,530.08	\$875.00	\$14,000.00
702-0470	Shrub: Ilex Vomitoria Nana – "Yaupon"	EA	1,314	\$20.00	\$26,280.00	\$19.04	\$25,018.56	\$23.00	\$30,222.00
702-0678	Shrub: Muhlenbergia Capillaris – "Pink Muhly Grass	EA	233	\$25.00	\$5,825.00	\$20.85	\$4,858.05	\$27.00	\$6,291.00
702-0981	Shrub: Rosa SP – "Knockout Rose"	EA	16	\$40.00	\$640.00	\$34.44	\$551.04	\$32.00	\$512.00
702-0330	Groundcover: Hemerocallis Species - Daylillies	EA	4,073	\$10.00	\$40,730.00	\$5.08	\$20,690.84	\$9.00	\$36,657.00
702-0559	Groundcover: Liriope Muscari – Blue lily turf	EA	19,923	\$7.00	\$139,461.00	\$4.90	\$97,622.70	\$7.00	\$139,461.00
	Hardscape and Landscaping Subtotal				\$1,104,796.00		\$1,061,604.78		\$1,316,185.00

Grand Total \$7,173,779.90 Grand Total \$7,538,003.59 Grand Total \$7,618,853.60

				BRTU Const		Precision 2000	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total
150-1000	Traffic Control	LS	1	\$494,536.00	\$494,536.00	\$257,000.00	\$257,000.00
632-0003	Changeable Message Sign, Portable, Type 3	EA	4	\$18,000.00	\$72,000.00	\$18,200.00	\$72,800.00
634-1200	Right of Way Markers	EA	44	\$150.00	\$6,600.00	\$250.00	\$11,000.00
156-0100	GPS Data Collection and Submittal	LS	1	\$15,000.00	\$15,000.00	\$18,450.00	\$18,450.00
210-0100	Grading Complete	LS	1	\$1,644,995.00	\$1,644,995.00	\$1,525,000.00	\$1,525,000.00
	Traffic Control and Grading Subtotal				\$2,233,131.00		\$1,884,250.00
163-0528	Construct and Remove Fabric Check Dam	LF	100	\$10.00	\$1,000.00	\$14.70	\$1,470.00
163-0527	Construct and Remove Rip Rap Check Dams	EA	2	\$500.00	\$1,000.00	\$746.00	\$1,492.00
165-0041	Maintenance of Check Dams – All Types	LF	90	\$5.00	\$450.00	\$30.00	\$2,700.00
163-0541	Construct and Remove Rock Filter Dams	EA	5	\$500.00	\$2,500.00	\$814.00	\$4,070.00
165-0110	Maintenance of Rock Filter Dams	EA	5	\$250.00	\$1,250.00	\$377.00	\$1,885.00
163-0550	Construct and Remove Inlet Sediment Trap	EA	64	\$250.00	\$16,000.00	\$287.00	\$18,368.00
165-0105	Maintenance of Inlet Sediment Trap	EA	64	\$100.00	\$6,400.00	\$87.00	\$5,568.00
163-0503	Construct and Remove Silt Control Gate, TP 3	EA	1	\$1,000.00	\$1,000.00	\$98.00	\$98.00
165-0087	Maintenance of Silt Control Gate, TP 3	EA	1	\$500.00	\$500.00	\$206.00	\$206.00
171-0030	Install Temporary Silt Fence, TP C	LF	5,700	\$4.50	\$25,650.00	\$4.70	\$26,790.00
165-0030	Maintenance of Temporary Silt Fence, TP C	LF	2,900	\$1.50	\$4,350.00	\$2.00	\$5,800.00
716-2000	Erosion Control Mats, Slopes	SY	2,800	\$1.50	\$4,200.00	\$1.30	\$3,640.00
163-0300	Construction Exit	EA	3	\$1,500.00	\$4,500.00	\$2,633.00	\$7,899.00
165-0101	Maintenance of Construction Exit	EA	6	\$600.00	\$3,600.00	\$911.00	\$5,466.00
163-0520	Construct and Remove Temp. Pipe Slope Drain	LF	200	\$20.00	\$4,000.00	\$22.40	\$4,480.00

				BRTU Const		Precision 2000	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total
711-0100	Turf Reinforcing Mat, Type 1	SY	500	\$6.00	\$3,000.00	\$6.50	\$3,250.00
167-1000	Water Quality Monitoring & Sampling	EA	2	\$1,000.00	\$2,000.00	\$463.00	\$926.00
167-1500	Water Quality Inspection	МО	24	\$500.00	\$12,000.00	\$914.00	\$21,936.00
163-0232	Temporary Grassing	AC	4	\$1,000.00	\$4,000.00	\$1,240.00	\$4,960.00
700-7000	Agricultural Lime	TN	25	\$300.00	\$7,500.00	\$318.00	\$7,950.00
700-8000	Fertilizer, Mixed Grade	TN	6	\$1,000.00	\$6,000.00	\$565.00	\$3,390.00
700-8100	Fertilizer, Nitrogen Content	LB	350	\$2.00	\$700.00	\$63.00	\$22,050.00
163-0240	Mulch, 3 to 4 inches double shredded hardwood	TN	140	\$400.00	\$56,000.00	\$508.00	\$71,120.00
700-9300	Sod (Replace in Kind)	SY	6,574	\$12.00	\$78,888.00	\$23.00	\$151,202.00
643-8200	Barrier Fence (Orange), 4 Ft	LF	1,100	\$2.00	\$2,200.00	\$3.72	\$4,092.00
700-6910	Permanent Grassing	AC	7	\$2,000.00	\$14,000.00	\$1,565.00	\$10,955.00
	Erosion Control and Grassing Subtotal				\$262,688.00		\$391,763.00
402-4510	Recycled Asph. Conc., 12.5 MM Superpave, GP 2 Only, Incl Polymer-Modified Matl and H Lime	TN	1,682	\$130.00	\$218,660.00	\$186.00	\$312,852.00
402-3190	Recycled Asph. Conc., 19 MM Superpave, GP 1 or 2, Incl Bitum Matl & H Lime	TN	351	\$153.00	\$53,703.00	\$181.30	\$63,636.30
402-3121	Recycled Asph. Conc., 25 MM Superpave, GP 1 or 2, Incl Bitum Matl & H Lime	TN	37	\$150.00	\$5,550.00	\$176.10	\$6,515.70
310-1101	Graded Aggregate Base Course, Incl. Matl	TN	2,600	\$30.00	\$78,000.00	\$29.20	\$75,920.00
318-3000	Aggregate Surface Course (As Directed by Engr.)	TN	1,500	\$30.00	\$45,000.00	\$29.20	\$43,800.00
413-0750	Tack Coat	GL	2,180	\$4.00	\$8,720.00	\$4.70	\$10,246.00
402-1802	Recycled Asph. Conc. Patching, Incl Bitum. Matl. & H Lime (As Directed By Engineer)	TN	600	\$190.00	\$114,000.00	\$223.00	\$133,800.00

				BRTU Const		Precision 2000	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total
402-1812	Recycled Asph. Conc. Leveling, Incl Bitum. Matl. & H			4407.00	4.70.407.00	4450 50	4044.000.00
500 2000	Lime	TN	3,833	\$125.00	\$479,125.00		
500-3900	Class B Concrete, including Reinf. Steel	CY	30	\$600.00	\$18,000.00	\$1,153.00	\$34,590.00
500-9999	Class B Concrete, Base or Pavement Widening	CY	130	\$300.00	\$39,000.00	\$253.70	\$32,981.00
432-5010	Mill Asph. Conc. Pavement, Variable Depth	SY	3,171	\$10.00	\$31,710.00	\$9.80	\$31,075.80
446-1100	Pavement Reinf. Strips, TP 2, 18-inch width	LF	3,110	\$8.50	\$26,435.00	\$9.30	\$28,923.00
441-6216	Concrete Curb & Gutter, 8-IN x 24-IN, TP 2	LF	970	\$20.00	\$19,400.00	\$30.66	\$29,740.20
441-6222	Concrete Curb & Gutter, 8-IN x 30-IN, TP 2	LF	60	\$25.00	\$1,500.00	\$34.80	\$2,088.00
441-5002	Concrete Header Curb, 6-IN, TP 2	LF	7,689	\$18.00	\$138,402.00	\$24.40	\$187,611.60
441-5008	Concrete Header Curb, 6-IN, TP 7	LF	1,011	\$18.00	\$18,198.00	\$25.30	\$25,578.30
441-0754	Concrete Median, 7-1/2 INCH	SY	262	\$60.00	\$15,720.00	\$84.00	\$22,008.00
441-4020	Concrete Valley Gutter, 6-INCH	SY	46	\$60.00	\$2,760.00	\$72.80	\$3,348.8
441-4030	Concrete Valley Gutter, 8-INCH	SY	46	\$80.00	\$3,680.00	\$86.30	\$3,969.8
441-0204	Plain Concrete Ditch Paving, 4-INCH	SY	5	\$100.00	\$500.00	\$55.34	\$276.7
441-0016	Driveway Concrete, 6-IN Thick	SY	86	\$60.00	\$5,160.00	\$68.90	\$5,925.4
441-0018	Driveway Concrete, 8-IN Thick	SY	109	\$80.00	\$8,720.00	\$81.95	\$8,932.5
500-3115	Class A Concrete, Type P2 Retaining Wall (Wall 6)	L	73	\$655.00	\$47,815.00	\$875.00	\$63,875.0
607-1000	Mortar Rubble Gravity Retaining Wall (Height LT 6 FEET)	CY	45	\$600.00	\$27,000.00	\$520.00	\$23,400.0
643-8405	Fence, Special Design - Railing	LF	583	\$100.00	\$58,300.00	\$174.00	\$101,442.0
643-8405	Fence, Special Design – Railing (at Ret. Walls 1 thru 6)	LF	355	\$100.00	\$35,500.00	\$174.00	\$61,770.0
	Asphalt and Concrete Subtotal				\$1,500,558.00		\$1,925,669.6

			BRTU Const		Precision 2000		
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total
550-1180	Storm Drain Pipe, 18-INCH, H 1-10 (RCP)	LF	2,781	\$75.00	\$208,575.00	\$60.30	\$167,694.30
550-1240	Storm Drain Pipe, 24-INCH, H 1-10 (RCP)	LF	1,280	\$80.00	\$102,400.00	\$72.40	\$92,672.00
550-4224	GA STD 1120 Flared End Section, 24-INCH	EA	1	\$1,500.00	\$1,500.00	\$1,253.00	\$1,253.00
668-1100	Catch Basin, Group 1, 6 FEET or Less	EA	43	\$4,000.00	\$172,000.00	\$3,430.00	\$147,490.00
668-1110	Catch Basin, Group 1, Additional Depth	LF	30	\$300.00	\$9,000.00	\$421.00	\$12,630.00
668-4300	Manhole, GA STD 1011A, TP 1, 42-INCH or Less, 6 Feet or Less	EA	6	\$3,500.00	\$21,000.00	\$3,195.00	\$19,170.00
668-4311	Manhole, GA STD 1011A, TP 1, 42-INCH or Less, (ACT Depth 6-10 Feet)	EA	7	\$300.00	\$2,100.00	\$421.00	\$2,947.00
668-2100	Drop Inlet, GP 1, 6 FEET of Less	EA	12	\$3,500.00	\$42,000.00	\$3,079.00	\$36,948.00
668-2110	Drop Inlet, GP 1, ADD'L Depth	LF	7	\$300.00	\$2,100.00	\$550.00	\$3,850.00
611-8040	Adjust Existing Drop Inlet to Grade, GP 1	EA	3	\$1,500.00	\$4,500.00	\$880.00	\$2,640.00
603-2181	Rip Rap Type 3 – 18-INCH	SY	71	\$80.00	\$5,680.00	\$44.00	\$3,124.00
603-7000	Plastic Filter Fabric	SY	71	\$6.00	\$426.00	\$3.00	\$213.00
	Storm Drainage Subtotal				\$571,281.00		\$490,631.30
611-8050	Adjust Sanitary Sewer Manhole to Grade	EA	5	\$1,400.00	\$7,000.00	\$2,450.00	\$12,250.00
611-8140	Adjust Water Valve Box to Grade	EA	4	\$220.00	\$880.00	\$484.00	\$1,936.00
670-1120	Water Main, 12-INCH DIP	LF	3,310	\$150.00	\$496,500.00	\$126.00	\$417,060.00
670-1080	Water Main, 8-INCH DIP	LF	341	\$88.00	\$30,008.00	\$132.00	\$45,012.00
670-1060	Water Main, 6-INCH DIP	LF	160	\$66.00	\$10,560.00	\$93.30	\$14,928.00
670-4000	Fire Hydrant Assembly	EA	11	\$4,000.00	\$44,000.00	\$6,852.00	\$75,372.00
670-9920	Remove Existing Fire Hydrant	EA	3	\$660.00	\$1,980.00	\$1,154.00	\$3,462.00

				BRTU Const		Precision 2000	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total
670-2060	Gate Valve, 6-INCH	EA	15	\$1,300.00	\$19,500.00	\$3,220.00	\$48,300.00
670-2080	Gate Valve, 8-INCH	EA	7	\$2,800.00	\$19,600.00	\$3,536.00	\$24,752.00
670-2120	Gate Valve, 12-INCH	EA	8	\$5,500.00	\$44,000.00	\$5,303.00	\$42,424.00
600-0001	Flowable Fill	CY	35	\$250.00	\$8,750.00	\$407.00	\$14,245.00
670-1490	Cut & Cap Existing Water Main	EA	3	\$3,300.00	\$9,900.00	\$2,100.00	\$6,300.00
670-9720	Relocate Existing Water Valve Incl. Box	EA	18	\$1,350.00	\$24,300.00	\$1,240.00	\$22,320.00
670-9910	Remove Existing Water Valve Incl. Box	EA	11	\$660.00	\$7,260.00	\$822.00	\$9,042.00
670-5000	Water Service Line, ¾-INCH	LF	299	\$33.00	\$9,867.00	\$33.60	\$10,046.40
670-5000	Water Service Line, 1-INCH	LF	215	\$33.00	\$7,095.00	\$40.00	\$8,600.00
670-3169	Tapping Sleeve & Valve Assembly, 16-INCH x 12-INCH	EA	1	\$25,000.00	\$25,000.00	\$23,760.00	\$23,760.00
670-3166	Tapping Sleeve & Valve Assembly, 16-INCH x 6-INCH	EA	1	\$21,000.00	\$21,000.00	\$17,782.00	\$17,782.00
	Water Main Subtotal				\$787,200.00		\$797,591.40
639-3004	Steel Strain Pole, Type IV, with 50-Foot Mast Arm- Fluted Black	EA	2	\$15,000.00	\$30,000.00	\$17,251.00	\$34,502.00
639-3004	Steel Strain Pole, Type IV, with 55-Foot Mast Arm- Fluted Black	EA	1	\$18,700.00	\$18,700.00	\$21,304.00	\$21,304.00
639-3004	Steel Strain Pole, Type IV, with 40' AND 45' Mast Arms-Fluted Black	EA	1	\$22,500.00	\$22,500.00	\$26,707.00	\$26,707.00
639-3004	Steel Strain Pole, Type IV, with 45' Mast Arms-Fluted Black	EA	1	\$16,000.00	\$16,000.00	\$18,295.00	\$18,295.00

							BRT	'U Const	Precision 2000	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total			
639-3004	Steel Strain Pole, Type IV, with 50' and 60' Mast Arms-Fluted Black	EA	1	¢38,000,00	¢20,000,00	¢22.667.00	¢22.007.00			
639-3014	Steel Strain Pole, Type IV, Lumin Arm with 55' Mast Arms-Fluted Black	EA	1	\$28,000.00 \$21,000.00	\$28,000.00 \$21,000.00	\$33,667.00 \$24,671.00	\$33,667.00 \$24,671.00			
639-3014	Steel Strain Pole, Type IV, Lumin Arm with 50' and 55' Mast Arms-Fluted Black	EA	1	\$26,000.00	\$26,000.00	\$31,832.00	\$31,832.00			
647-1000	Traffic Signal Installation No. 1 (CDR at Old Spring House)	LS	1	\$80,000.00	\$80,000.00	\$118,930.00	\$118,930.00			
647-1000	Traffic Signal Installation No. 2 – (CDR & Kroger)	LS	1	\$79,000.00	\$79,000.00	\$95,208.00	\$95,208.00			
647-1000	Traffic Signal Installation No. 3 – (CDR & Cotillion)	LS	1	\$100,000.00	\$100,000.00	\$97,459.00	\$97,459.00			
647-2140	Pullbox, PB-4	EA	1	\$1,100.00	\$1,100.00	\$127.00	\$127.00			
647-2160	Pullbox, PB-6	EA	22	\$385.00	\$8,470.00	\$170.00	\$3,740.00			
647-2170	Pullbox, PB-7	EA	2	\$1,350.00	\$2,700.00	\$170.00	\$340.00			
682-6222	Conduit, Nonmetl., TP 2, 2 In.	LF	60	\$13.00	\$780.00	\$13.80	\$828.00			
682-6233	Conduit, Nonmetl., TP 3, 2 In.	LF	7,585	\$13.00	\$98,605.00	\$2.87	\$21,768.95			
682-9950	Directional Bore – 5 INCH	LF	2,204	\$2.20	\$4,848.80	\$28.37	\$62,527.48			
682-9950	Directional Bore – 7 INCH	LF	403	\$3.30	\$1,329.90	\$42.57	\$17,155.71			
935-1116	OSP Fiber Optic Cable, Loose Tube, Single Mode, 72 Fiber	LF	1,535	\$2.20	\$3,377.00	\$0.97	\$1,488.95			
935-1512	OSP Fiber Optic Cable, Drop, Single Mode, 12 Fiber	LF	300	\$2.00	\$600.00	\$2.41	\$723.00			
935-3102	Fiber Optic Closure, Underground, 12 Fiber	EA	3	\$670.00	\$2,010.00	\$721.70	\$2,165.10			
935-3502	Fiber Optic Closure, FDC (Rack Mounted), 12 Fiber	EA	3	\$800.00	\$2,400.00	\$728.00	\$2,184.00			
935-4010	Fiber Optic Splice, Fusion	EA	24	\$53.00	\$1,272.00	\$52.00	\$1,248.00			

				BRTU Const		Precision 2000	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total
935-5050	Fiber Optic Patch Cord, SM	EA	6	\$154.00	\$924.00	\$64.30	\$385.80
937-6050	Intersection Video Detection System Assembly, Type A	EA	2	\$5,700.00	\$11,400.00	\$7,053.00	\$14,106.00
937-8030	Testing – Intersection Video Detection	LS	1	\$300.00	\$300.00	\$118.00	\$118.00
939-2250	GBIC, Type D (LX)	EA	6	\$165.00	\$990.00	\$146.00	\$876.00
939-2300	Field Switch, Type A	EA	3	\$1,800.00	\$5,400.00	\$2,133.00	\$6,399.00
999-3800	Rectangular Rapid Beacon Assembly	EA	6	\$9,800.00	\$58,800.00	\$7,264.00	\$43,584.00
	Traffic Signals and Communications				\$626,506.70		\$682,339.99
610-6515	Remove Highway Sign, STD Dunwoody Park, STA 106+49	EA	1	\$500.00	\$500.00	\$72.00	\$72.00
611-5551	Re-set Sign, Dunwoody Park, STA 106+54	EA	1	\$500.00	\$500.00	\$202.00	\$202.00
653-1501	Thermoplastic Solid Traffic Stripe, 5-INCH, White	LF	7,856	\$1.10	\$8,641.60	\$1.25	\$9,820.00
653-1804	Thermoplastic Solid Traffic Stripe, 8-INCH, White	LF	16,350	\$2.50	\$40,875.00	\$2.99	\$48,886.50
653-1502	Thermoplastic Solid Traffic Stripe, 5-INCH, Yellow	LF	5,764	\$1.10	\$6,340.40	\$1.25	\$7,205.00
653-3501	Thermoplastic Skip Traffic Stripe, 5-INCH, White	GLF	1,430	\$0.80	\$1,144.00	\$0.95	\$1,358.50
653-3502	Thermoplastic Skip Traffic Stripe, 5-INCH, Yellow	GLF	2,732	\$0.80	\$2,185.60	\$0.95	\$2,595.40
653-1704	Thermoplastic Solid Traffic Stripe, 24-IN, White	LF	617	\$5.00	\$3,085.00	\$6.00	\$3,702.00
652-5452	Solid Traffic Paint, 5-INCH Yellow	LF	1,794	\$0.60	\$1,076.40	\$0.63	\$1,130.22
653-6004	Thermoplastic Traffic Striping, White	SY	167	\$9.00	\$1,503.00	\$11.18	\$1,867.06
653-6006	Thermoplastic Traffic Striping, Yellow	SY	539	\$8.60	\$4,635.40	\$10.28	\$5,540.92
654-1001	Raised Pavement Markers, Yellow, TP 1	EA	164	\$8.00	\$1,312.00	\$9.00	\$1,476.00
654-1003	Raised Pavement Markers, Clear/Red, TP 3	EA	129	\$8.00	\$1,032.00	\$9.00	\$1,161.00

				BRTU Const		Precision 2000	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total
653-0110	Thermoplastic PVMT Marking, ARROW, TP 1	EA	5	\$82.00	\$410.00	\$97.00	\$485.00
653-0120	Thermoplastic PVMT Marking, ARROW, TP 2	EA	34	\$82.00	\$2,788.00	\$97.00	\$3,298.00
653-0130	Thermoplastic PVMT Marking, ARROW, TP 3	EA	2	\$140.00	\$280.00	\$163.00	\$326.00
653-0210	Thermoplastic PVMT Marking, WORD, TP 1	EA	4	\$160.00	\$640.00	\$185.00	\$740.00
639-2002	Steel Wire Strand Cable, 3/8-Inch	LF	416	\$5.50	\$2,288.00	\$9.10	\$3,785.60
639-3003	Steel Strain Pole, TP III – Fluted Black	EA	4	\$12,000.00	\$48,000.00	\$13,108.00	\$52,432.00
636-1033	Highway Sign, TP 1 Mat'l, REFL Sheeting, TP 9	SF	244	\$35.00	\$8,540.00	\$53.06	\$12,946.64
636-1036	Highway Sign, TP 1 Mat'l, REFL Sheeting, TP 11	SF	326	\$30.00	\$9,780.00	\$34.40	\$11,214.40
636-1041	Highway Sign, TP 2 Mat'l, REFL Sheeting, TP 9	SF	2,222	\$5.00	\$11,110.00	\$40.60	\$90,213.20
636-2070	Highway Sign, SQ. Galv. Tube Post, Type 7	LF	837	\$20.00	\$16,740.00	\$20.90	\$17,493.30
636-2080	Highway Sign, SQ. Galv. Tube Post, Type 8	LF	168	\$20.00	\$3,360.00	\$28.50	\$4,788.00
636-3010	Highway Sign, SQ. Tube Post, Break-Away Sign Support	EA	12	\$30.00	\$360.00	\$41.50	\$498.00
	Signage and Pavement Marking Subtotal				\$177,126.40		\$283,236.74
681-3600	Type A, SPCL, 69W LED Type 5 Luminaire with GFCI Outlet with WP In-Use Cover & pole Compl.	EA	79	\$6,300.00	\$497,700.00	\$7,693.00	\$607,747.00
682-9950	Directional Bore, 2-inch	LF	550	\$7.70	\$4,235.00	\$31.51	\$17,330.50
682-6222	Conduit, NONMETL, TP 2, 2-INCH	LF	7,200	\$7.70	\$55,440.00	\$9.36	\$67,392.00
682-6218	Conduit, NONMETL, TP 2, 3/4-INCH	LF	1,100	\$7.00	\$7,700.00	\$9.37	\$10,307.00
682-6233	Conduit, NONMETL, TP 3, 2-INCH	LF	810	\$7.70	\$6,237.00	\$1.89	\$1,530.90
682-8995	Power Service Cabinet	EA	1	\$22,000.00	\$22,000.00	\$14,935.00	\$14,935.00

						BRTU Const		Precision 2000	
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total		
682-9021	Electrical Junction Box, Conc. Ground-MTD	EA	81	\$358.00	\$28,998.00	\$610.00	\$49,410.00		
682-1413	Cable, TP XHHW, AWG #1/0	LF	14,100	\$2.90	\$40,890.00	\$3.98	\$56,118.00		
682-1409	Cable, TP XHHW, AWG #1	LF	7,500	\$2.30	\$17,250.00	\$3.26	\$24,450.00		
682-1408	Cable, TP XHHW, AWG #2	LF	20,200	\$2.00	\$40,400.00	\$2.70	\$54,540.00		
682-1406	Cable, TP XHHW, AWG #6	LF	21,500	\$1.10	\$23,650.00	\$1.50	\$32,250.00		
682-1404	Cable, TP XHHW, AWG #10	LF	6,600	\$0.50	\$3,300.00	\$0.80	\$5,280.00		
	Lighting Subtota	1			\$747,800.00		\$941,290.40		
900-0039	Brick Pavers	SF	14,369	\$12.00	\$172,428.00	\$15.55	\$223,437.95		
900-0045	Mortar Set Bed Brick Pavers, 1-1/2 Inch	SY	1,597	\$15.00	\$23,955.00	\$22.24	\$35,517.28		
441-0104	Concrete Sidewalk, 4-Inch	SY	2,121	\$40.00	\$84,840.00	\$53.60	\$113,685.60		
441-0105	Concrete Sidewalk, 5-Inch	SY	3,368	\$43.00	\$144,824.00	\$66.80	\$224,982.40		
441-0108	Concrete Sidewalk, 8-Inch	SY	1,424	\$55.00	\$78,320.00	\$128.00	\$182,272.00		
310-1101	GR. AGGR. BASE COURSE, Incl. MATL	TN	2,028	\$30.00	\$60,840.00	\$29.30	\$59,420.40		
500-3300	Mortar Rubble Masonry Wall	CY	36	\$550.00	\$19,800.00	\$540.00	\$19,440.00		
643-8250	Galv. Steel Pipe Handrail (Not used)	LF	-	\$0.00	\$0.00	\$0.00	\$0.00		
630-0600	Precast Coping and granite facing (all sides) at Gateway sign	LF	178	\$250.00	\$44,500.00	\$570.00	\$101,460.00		
670-1590	Concrete Cap	LF	16	\$200.00	\$3,200.00	\$70.00	\$1,120.00		
999-0100	Architectural Construction – New Bus Shelters (2 each)	LS	1	\$40,000.00	\$40,000.00	\$47,247.00	\$47,247.00		
999-9500	Granite Facing	SF	1,197	\$38.00	\$45,486.00	\$32.00	\$38,304.00		
754-5000	6-Foot Bench	EA	8	\$2,200.00	\$17,600.00	\$2,797.00	\$22,376.00		

				BRT	U Const	Precis	sion 2000
GDOT Pay Item	Description	UOM	QTY	Unit Price	Total	Unit Price	Total
754-6000	Bicycle Rack	EA	4	\$1,400.00	\$5,600.00	\$1,719.00	\$6,876.00
702-9025	Landscape Mulch	SY	3,384	\$5.00	\$16,920.00	\$7.83	\$26,496.72
708-1000	Plant Topsoil (Screened, delivered and spread –)	CY	376	\$60.00	\$22,560.00	\$78.30	\$29,440.80
702-7501	Tree Protection Barrier, TP 1	LF	1,326	\$2.00	\$2,652.00	\$19.40	\$25,724.40
702-0472	Tree: Ilex X Attenuata – "Foster Holly"	EA	14	\$175.00	\$2,450.00	\$900.00	\$12,600.00
702-0905	Tree: Quercus Phellos – "Willow Oak"	EA	55	\$950.00	\$52,250.00	\$2,322.00	\$127,710.00
702-1081	Tree: Ulmus Americana – "American Elm"	EA	16	\$950.00	\$15,200.00	\$2,220.00	\$35,520.00
702-0470	Shrub: Ilex Vomitoria Nana – "Yaupon"	EA	1,314	\$25.00	\$32,850.00	\$190.00	\$249,660.00
702-0678	Shrub: Muhlenbergia Capillaris – "Pink Muhly Grass	EA	233	\$25.00	\$5,825.00	\$157.00	\$36,581.00
702-0981	Shrub: Rosa SP – "Knockout Rose"	EA	16	\$50.00	\$800.00	\$144.00	\$2,304.00
702-0330	Groundcover: Hemerocallis Species - Daylillies	EA	4,073	\$9.50	\$38,693.50	\$18.30	\$74,535.90
702-0559	Groundcover: Liriope Muscari – Blue lily turf	EA	19,923	\$7.40	\$147,430.20	\$20.90	\$416,390.70
	Hardscape and Landscaping Subtotal				\$1,079,023.70		\$2,113,102.15

Grand Total \$7,985,314.80 Grand Total \$9,509,874.63